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QUESTION 1

Which of the following regarding the connections between eBGP peers is TRUE? 

A. eBGP peers typically use system addresses for session establishment. 

B. eBGP peers are managed under a single administration. 

C. eBGP peers do not propagate updates learned via iBGP. 

D. eBGP peers are usually directly connected to each other. 

Correct Answer: D 

 

QUESTION 2

Which of the following is TRUE if the local state of BGP is OpenConfirm? 

A. The local system has received a Keepalive message and is ready to exchange updates. 

B. The local system is exchanging Update messages with its neighbor. 

C. The local system has sent a Keepalive message to its neighbor and is waiting to receive one back. 

D. The local system has sent an Open message to its neighbor and is waiting to receive one back. 

Correct Answer: C 

 

QUESTION 3

An Alcatel-Lucent 7750 SR receives a route from an eBGP peer with a MED value of 500. 

What MED value is sent to iBGP peers? 

A. 100 

B. The IGP cost 

C. 500 

D. None 

Correct Answer: C 

 

QUESTION 4

What kind of attribute is the aggregator? 

A. Well-known mandatory 
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B. Well-known discretionary 

C. Optional transitive 

D. Optional non-transitive 

Correct Answer: C 

 

QUESTION 5

An Alcatel-Lucent 7750 SR is configured with an export policy to redistribute its directly- connected networks into BGP.
Which of the following databases contains the routes for these networks? 

A. The routes are in the RIB-In. 

B. The routes are in the Loc-RIB. 

C. The routes are in the RIB-Out. 

D. The routes are not in any of the BGP databases. 

Correct Answer: C 
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